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QUESTION 1

Which of the following statements regarding the role of the MME in the packet core is FALSE? 

A. MME manages registration, authentication, and mobility for the UE. 

B. MME handles setup and management of UE connections to data and voice over LTE. 

C. MME routes and forwards user data packets received from eNodeB. 

D. MME selects the appropriate SGW and PGW during a UE relocation. 

Correct Answer: C 

Reference: https://en.wikipedia.org/wiki/System_Architecture_Evolution 

 

QUESTION 2

The DNS NAPTR records shown in the exhibit are returned to the MME during SGW/PGW selection. 

If gateway selection mode 1 is used, which SGW/PGW pair is selected by the MME? 

A. sgw01 and pgw01 

B. sgw01 and pgw02 

C. sgw02 and pgw01 

D. sgw02 and pgw02 

Correct Answer: B 

 

QUESTION 3

Given the exhibit, if GTP-C load control is used, which SGW will have the highest probability of being selected by the
MME for new session requests? 
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A. sgw01 

B. sgw02 

C. sgw03 

D. sgw04 

Correct Answer: A 

 

QUESTION 4

If the selected SGW fails, which SGW/PGW will MME select if `gateway selection mode 2\\' is used? 

A. A new SGW, but new PGW selection is not required 

B. A new SGW first, then select a new PGW that is topologically closest to the newly selected SGW 

C. A new SGW first, then select a new PGW with the best order and preference values 

D. The next topologically closest SGW/PGW pair 

Correct Answer: A 

 

QUESTION 5

Which of the following regarding logging architecture in Nokia CMM is FALSE? 

A. Log files can be retrieved under the "/data-logs" folder. 

B. Different log files are generated automatically in the system. 

C. Logs are generated based on log events. 

D. Details about each log can be displayed using the verbose (-v) flag. 

Correct Answer: A 
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